
L2(29) (mod 3)

blocks defect matrix

G : 1 1 3× 2
2 0 151 = χ2, ϕ2

3 0 152 = χ3, ϕ3

4 1 3× 1
5 1 3× 1
6 0 301 = χ12, ϕ7

7 0 302 = χ13, ϕ8

8 0 303 = χ14, ϕ9

9 0 304 = χ15, ϕ10

10 0 305 = χ16, ϕ11

11 0 306 = χ17, ϕ12

blocks defect matrix

2.G : 12 1 3× 2
13 1 3× 1
14 1 3× 1
15 0 307 = χ27, ϕ17

16 0 308 = χ28, ϕ18

17 0 309 = χ29, ϕ19

18 0 3010 = χ30, ϕ20

19 0 3011 = χ31, ϕ21

20 0 3012 = χ32, ϕ22

21 0 3013 = χ33, ϕ23

Block 1: ϕ1 ϕ4

11 = χ1 1 .
281 = χ4 . 1
291 = χ11 1 1

ϕ1 = 11
ϕ4 = 281

Block 4: ϕ5

282 = χ5 1
284 = χ7 1
286 = χ9 1

ϕ5 = 282

Block 5: ϕ6

283 = χ6 1
285 = χ8 1
287 = χ10 1

ϕ6 = 283

Block 12: ϕ13 ϕ14

141 = χ18 1 .
142 = χ19 . 1
288 = χ20 1 1

ϕ13 = 141
ϕ14 = 142



Block 13: ϕ15

289 = χ21 1
2811 = χ23 1
2813 = χ25 1

ϕ15 = 284

Block 14: ϕ16

2810 = χ22 1
2812 = χ24 1
2814 = χ26 1

ϕ16 = 285


